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roc <- function(values,iscase) {
cutoffs <- unique(sort(values))
cutoffs <- c(cutoffs,max(values)+1)
ns <- length(cutoffs)
sensitivity <- rep(0,ns)
falsepositive <- rep(0,ns)
dist <- rep(0,ns)
for (i in 1:ns) {
cutoff <- cutoffs[il
positives <- ifelse(values >= cutoff,1,0)
D <- sum(iscase==1)
H <- sum(iscase==0)
PinD <- sum(positives==1 & iscase==1)
NinH <- sum(positives==0 & iscase==0)
sensitivity[i] <- PinD/D
falsepositive[i] <- 1-NinH/H
dist[i] <- sqrt((PinD/D) "2+ (NinH/H)"2)
}
list(cutoffs,sensitivity,falsepositive,dist)
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rocc <- function(...) {
res <- roc(x,y)
cat("cutoff\tsensitivity\tl-specificity\tdistance\n",
sprintf ("%5.3£\t%5.3£\t%5.3£\t%5.3f\n" ,res[[1]] ,res[[2]],res[[3]1],res[[4]11))
mlcs <- "OOOOOOO0OO0O0O:%5.3f000:%5.3f0000%5.3f\n"
mlcc <- which.max(res[[4]1])
cat(sprintf (mlcs,res[[1]] [mlcc],res[[2]] [mlcc],1-res[[3]1] [mlcc]))
plot(res[[31],res[[2]],type="1",1wd=2,x1lab="1-00 0 (specificity)",ylab="00 (sensitivity)")
lines(c(0,1),c(0,1),1wd=1,1ty=2)
}
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x <- c(20,22,28,13,19,21,11,25,16,19)
y <= c(rep(1,3),rep(0,7))
rocc(x,y)
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require(Epi)
ROC(x,y,plot="ROC")
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